EARAROBEEIERT — 2 N— IBISH —F

201778178 (A) IJmE&&HEIA

m%‘}%ﬁ H$ZR3KELEOP ‘ (%M&) ‘ (Ewm  — | 4 (£) 19000 &
[xE<£] 1 % :2,500,000 @ ~ 23%&:625,000  ~ 337 :250,000  ~ 43 :150,000 @ ~ 5 7 :100,000 M
B ®RBE RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
1 7l TA >z H o4 ;l;qai 2:04.7 1-1-1-1 405 — | 1 | 505 ﬁiz? (Fat)
= . _ FHEH
RTANETy Y2 BI-YhU—F o 2 | amags
5 NCEPEN =P # 5 éI;J%IE— 2(70?:)7 5-4-3-2 | 40.3| — 3 498 gi}{iﬁ ()
RiAXEFY BIASINYLH 0 i
3lglio| TTRNUFE-> Ho7 gf’%ﬁﬂ (21015/20> 6-6-6-2 |40.3| — | 12 | 473 %Eg% (&R)
RA—YZA A1 BN RN—y K R S A
algli|7v7 850y 7 H 8 gﬁ%ﬂfa— 2:(076).4 10-10-9-6 | 40.8 | — 4 479 lﬂ'ﬂ%gé%ﬁé)
L:x¥/ by THY BYILRY—H— -2 BB
. 4| 75>=a- # o5 | EIAA 2(706t>5 8-8-8-7 |41.2| — | 8 | 474 Eég Egi;ﬁ@
RTIATLXEA L BETFAOTY ) e me
65]5| FovasTSCF BT ST R IR D B B el B A
Z:o-xI>J0r B:v—2buia3n b avEEKRSH T Y3 UR
717l 10| *EV =T # 8 ?"ﬁ?ﬂtﬂﬁ 2:(027>.4 1-11-10-9 | 41.7 | — | 10 | 473 %ﬁgﬁ%jﬁé%)ﬁj
RiFLIALO— BLXEY-TTIU—h 2 | gx @i
8 o | NA¥ZaY K #H 5 S@?Ofﬂ 2:(038).0 7-7-7-10 | 42.8| — 6 489 /?gﬁ;ﬂl (BEE)
Qitrsa7aL B FEry b %2 | g
ol7lo|mzut1754 1 # 7 | ASHR B | EEEE (M) T e
RATANA U= BiHIwIIA v F | EAHUS
10 g | AXREF—H L 46 Sj;#gﬁ% 2:(028).5 4-5-3-5 |44.1| — 2 475 gfigé (BHE)
iy UETyR BiATY—FK— b (-6) HT
"l | E=ZXTIVUNT+ o6 | AZHE (21018/28> 12-12-12-11] 421 | — | 11 | 518 ﬁiﬁ%ﬁf (BER)
L TFYIS—L BEHI T 42| sespigsg
120567y TT7H— s || ELAEE 2:(029).2 9-9-10-12 [43.3| — | 9 | 511 E;g% (BHE)
LTSRS A~ Bia-TTa(F— ) )T s 7 i
® I —F—EBIERL
13=zr= 7,9,5,8,3,12,2,4,6,11,10,1
2al=3F= 7,9,5,3,8,12,2,4,6,11,10,1
BEE (5,7),(3,8),9,12,2,4,11,(6,10) ,1
43—+ — 7,(3,5,12),8,11,4,9,10,2,1,6
[ F/N=5
B OB 7 190M4 714K 3-7 220M e & 3-6 400M &R 3-7-12 14,230M
% B 7 150M 7-12 3,990M B = 3-7 460/ K31 7-3-12 36,630
3 200 3-12 6,260M B H# 7-3 650
12 1,550

ABICOVWTRDTEEERROODE. TR LIV,




